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EXERCISE 5.6: Use MATLAB to compute the following product of polynomials:

P(x) = (14+2x +3x>+5xH1 = 3x — x2 4+ x> + 3x%

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7. [ '
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc. ‘ SOLUTION



T, sl
£ ki

Tn MATLAB, use conv( ) fonchion

c.onv( [V,2,3, O,s-j) [1,-3,-1, 1,3])

The answer computed by MATLAB is:
LL-1,-4,-10,7, -¢, 4, 5,15
As a polynomial;
| — X - 4x*-10x> + Tx* — 6x% + 4xb . 5x7 4 I5X8
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